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EQAO Practice Questions

stage           blocks

    1                1

    2                4 

    3                7 

    4                10

    5                13

    6                16

   13+10+7+4+1= 35

35+16= 51 

She can only complete 5 stages. 

9)

20)

1         2          3          4

40

40, 44, 48, 52, 56, 60, 64, 

68, 72, 76 are all 

The correct answer is b

24)    

1       2       3        4 

The correct answer is 
d; the 16th term is 

6)   1 , 3, 6, 10,15, 21, 28
                       Add one more to each new term

      The correct answer is c

14)  1, 2, 4, 8, 

The pattern continues : 16, 32, 64

The correct answer is d
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